Jdn, do [GeV]}

sum
T

{(1/Nevents) d p

Ratio to CDF

1960 GeV ppbar Underlying Event
TT T T T ! LI I L

0.9 LA R IR B B [ He
9 15
- Average X(p ) vs p'fad (p, > 0.5 GeV, | <0.8) 1z
0.8 — —3
- m CDF 13
— --4-- Herwig 7.2.1 default N
0.7 — —4— Pythia 6.428 370 —3
— —— Pythia 8.170 default 15
— ¢ Sherpa 2.2.9 default —13
0.6 — —.=
N e
0.5 —
: 1z
04— &
u e
- —4 O
: 12
03— =
— 4%
— 1.
0.2 — —<
- m =
— —H @
u J0o
0.1— — g
— 1Q
— - O
- — O
n L L, [ -
: T T T T | T T T T | T T T T | T T T T |:
2 = =2
B \ ]
1
.................................. 4 |
: —0.5

20
{7 [GeV]}



	Contents
	Page 1


